. Competency Practice for Workshop

+ PAGE1 Quaestions 1~-4 on Competency Test
1) Simplify. 304+5.14- (-2}
a) 51 b) 560 ) 492 d) 102
2) Simplify. [6 + (-5)2 + (67N + [6(7 - 4)]
a1 N 92 a3
38 18
3) Simplify. §-9)+|2-18]
Ry, b) -70 )38 d) -38
4) Simplify. Abx+1)~(3x+5)~dx+6
a) -9x+9 b) ~15x+ 3 ) -18x -1 d) 15x + 6



. Competency Practice for Workshop

. PAGE2

1) Evaluate x34y-5 for x=-3,y=-10
a) -28

2) Solve. 3(2z-2)=5(z +3)

a) -9

3) Solve.

¢) Solve 8x - Ty =5 fery

)y

7x~5
[ e

b) -42

b) 12

¥ y=7@x-85)

c) -6

)9

,_,,...........‘“; 2

d) -24

d) 21

d)_—
5-8x

dy= 7



- Competency Practice for Workshop
PAGE 3 Questions 9-11 on Competency Test

1) Translate the statement into a mathematical equation.

3 times a number is 14 more than 2 times the number. Find the number.
A)2x=3x+14 B)3x=2x+14 C)3x+2x=14 D)3x-2x=14

2) In Trisville, there are three buildings of which the shortest is 101 ft shorter than the tallest. The middle one is 52 ft
shorter than the tallest. If the sum of the heights of the three buildings is 603 ft, how tall is the tallest building?

A) 502 ft B) 252 ft C) 551 ft D) 450 ft

3) If three times the smaller of two consecutive integers is added to four times the larger, the result is 67. Find the
smaller integer.
A)9 B)8 C)10 D) 27

4) From a point on a straight road, two cars are driven in opposite directions, one at 61 miles per hour and the
other at 24 miles per hour. In how many hours will they be 425 miles apart?

A) 4 hours B) 3 hours C) 5 hours D) 6 hours

5) Find the length of a rectangular lot with a perimeter of 124 meters if the length is 4 meters more than the width.
A)6e2m B) 29m C) 66 m D)33m

6) Identify the proportion listed below that solves this problem.

In a sample of 74 widgets, 3 were defective. How many defective widgets would you expect in a sample of 592
widgets?
592 3 74

74 3 x 3 3
2 x )74 =37 74 "X Prgoz =%



. PAGE4 Questions 12-15 on Competency Test
1) Simplify. [5-?]4
z
<12 o7 x12 wheld
)6 b) —zsﬁ 9" d) —31,'5—
23) 2926
2) Simplify. . B
Oz~
1 1 81
) 3112 ) 3118 9 et
3) Sienplify. MF
(b
1 . $
- 0
a) 3 b) »20 9 T d)
4€) Bxpress the number in sclentific notation.  8.00004776
8) 4776 x 105 b) 4.776 x 10¢ ©) 4776 x 105 d) 4.776 x 104
5) Write in stendard form. 437 x 106
a) 2022 b) £3,708.000 " ) 4370,000 d) 437,000



Co'mpehemyPractioeforWorkshop
. PAGES Questions 16-20 on Competency Test

1) Subtract. (244223 - 7x2 4 8)-(6x8+ 7x3 4 2x2 - 4)

a) -4x% +9x3 -5x2 + 4 b) 8x%+9x3 -5x2 + 4

) 8x4 +9x3 - 5x2 + 12 d) -4x4-5x3 -9x2 + 12
2) Multiply. -6a3x7(-7a6x6 + 7x5 + 7a)

a) 42a9x13 - 42a3x12 - 42a4x7 b) 42a9x13 - 42a3x12 + 7a

c) 42a6x6 - 405 - 42a d) 42a9x13 + 7x5 + 7a

3) Multiply. (x - 3y)}x - 4y)
a) x2 - 10xy + 12y2 b) x2- 7xy - 7y2 ) x - 7xy + 12y d) x2 - 7xy + 12y2

4) Factor completely. 72x9y8 - 64x6y5 - 40x2y2
a) 8x2(9x7y8 - 8x4y5 - 5y2) b) 8x2y2(9x7y6 - 8x4y3 - 5)
¢) No common factor d) 8(9x9y8 - 8x6y5 - 5x2y2)

5) Factor completely. 81x2 - 64
a) (9x + 8)(9x - 8) b) Ox + 8)2 ¢) Prime d) 9x - 82



*WM&WM
. PAGE6 Questions 1125 an Competency Test

1) Factor completely. 6o - 4x2 « 152 - 10

a) (2x4 +5)(3x - 2) b) (2 - 5)3x2 + 2) ©) (6x2 - 5)p2 + 2) d) @2 + 5)3x2 - 2)
2) Identify a factor of the following trinomnial: A2 +8x+3 &
a) @x+1) b) @x - 1) €) (x+3) d) (4x +1)
o y2-3y-18
3) Simplify. Ze2y-18
2
-3y-3 -3y-18 _y“-3y-18 Y LX)
) 2y-8 D) 5y-48 Ay Vyes

O Solve. xR+ 6x-40=0
a) 10,4 b) 10,4 A -10,1 d) 10, ¢

5) Solve. 9y2+2ly+10=0

2 25 1 5



. Competency Practios for Wockshop

. PAGE7 Questions 26-28 on Competency Test
1) Sinplify. V8x3y5;16
2) Dey2e8fly b) 23ybz16foxy ©) xy2e8 oy d) 2ep2zdfoxy
2) Simplify. 3ef12 -4/3)
a) 6 -af3 b) 9 Q3 d)342-3
3) Solve. -21r+ 18 5 -3z - 9)

ayrz-3 b)re3 drs-3 d)rs 3



: G;mpeﬁencyPractineforWorkslmp
PAGE 8 Questions 29-30 on Competency Test

1) Find the x-intercept of the equation. x+y=4
a) (2,0 b) 2, 4) c) 4,0) d) (0, 4)

2) Find the y-intercept of the equation. ~2x + 5y =10
a) (-5,0) b) (0,2) ©) (0, -5) d) (2,0)

3) Choose the graph of the equation. y=-2x-1




